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1. In a forest ecosystem, which is an abiotic factor?

A. the amount of rainfall

B. the size of the deer

C. the type of trees

D. the number of birds
2. Which situation would result in the greatest increase in the human population?

A. decreased birth rate and increased death rate

B. increased infant mortality and decreased death rate

C. decreased death rate and increased birth rate

D. increased birth rate and increased infant mortality
3.  A community is studied and several interactions are observed and recorded.
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Which type of interaction could illustrate the process of commensalism?
A. interaction A

B. interaction B

C. interaction C

D. interaction D
4.  Reindeer were introduced to a small island off the coast of Alaska in 1910. The table below tracks the population of the reindeer over a forty-year time span.
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Year

1910 | 1920 | 1930

1940

1950

Population

26 | 220 | 300

2000





 

 Which is the most likely explanation of the population decrease from 1940 to 1950?

	          A. decreased predation

	          B. exceeded carrying capacity

	          C. there is a new invasive species

	          D. more resources were available

	


5.  A certain plant requires moisture, oxygen, carbon dioxide, light, and minerals in order to survive.  This statement shows that a living organism depends on:
A. biotic factors

B. abiotic factors

C. symbiotic relationships

D. carnivore-herbivore relationships
6. A scorpion stalks, kills, and then eats a spider.  Based on its behavior, which ecological terms describe the scorpion?

A.  producer, herbivore, decomposer


B.  producer, carnivore, heterotroph


C.  predator, carnivore, consumer


D.  predator, autotroph, consumer
7. The timber wolves, rabbits, and vegetation in a particular region of northern New York together constitute part of a:


A.  population 


B.  community 


C.  species


D.  genus
8. Which of the following is an example of a density-independent limiting factor?

A.  predation


B.  competition


C.  unusual weather


D.  parasitism
9.   Which would raise the carrying capacity of the environment for a given species?

	        A. decreasing the size of the environment

	        B. introducing contaminants in to the environment

	        C. increasing water and food supplies in the environment

	        D. populating the environment with a predator of the species


	10.   

	Which level in a food web contains the highest amount of total available energy? 



	

	A. 
	secondary consumer 

	B. 
	primary consumer 

	C. 
	producer 

	D. 
	decomposer 


